OLI: To be able to divide using a written method.
A
Answer these questions in your maths books. Use the short bus-

stop method.
How many times

does 3 go into 5? b7 +3=19
It goes into 5 once How many times
and has a does 3 go info 277?
remainder of 2. ‘
1 It goes into
' times and has
\ 5 % no remainder.
: : Superstar
Challenging | More challenging material
33+3= 12 - 3= 66 -6 =
24 = 2= 27 + 3= 28 = 4 =
34:2:= 65 + 5 = 48 = 4 =
28 + 2 = 48 = 2 = 36 - 4 =
44 - 2 = 36 6= Q90 - 09 =
b5+ b= B4 - 3 = 96 - 2 =




